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Fifth Semester B.E. Degree Examination, June/J uly 2024

Object Oriented Modelling and Dersign

J'ime: 3 hrs. Max. Marks: 100

Note: lnsry er on)) FIVE futt questiorts, cltoosittg ON|E fnll question from ertch motlule.

Module-l
1 a. Explain Association End concept with example. Describe the properlies ol'Associatccl cnd

(10 llarks)

b. Describe rnultiple inheritance and its types with examples. (10 N1arks)

OR
2 a. Describe the Ibllowing :

i) Aggregation Vs Association
ii) Aggregation Vs Composition (10 Nlarks)

b. Define Event. Explain different kinds of events with suitable example. (06 N{arks)

c. Explain the follorving terms with example.
r) Metadata ii) Reification. (0'{ }larks)

Module-2
3 a. List and explain the rules of developing the statecharts (10 Nlarks)

b. Defrne use case diagram, explain the notations used in usecase dragranr with example.
(10 Marks)

4 a. Define SSD. Explain briefly the steps,o?I,*,o, SSD based on activity dragrarr, (10 NIarhs)

b. Write the simplified activity of diagram of telephone order scenario. (10 NIarl<.s)

IIod ule-3
5 a. Describe the different stages of software development process. (10 Nilarhs)

b. List and explain the steps to construct a domain state model (10 Nlarhs)

OR
6 a. Explain the following :

i) Water{all and iterative dcvelopment litb cycle
iD Data dictionaries for an ATM (10 Nlarl<s)

b. Lrst and explain the different criteria's to eliminate unxecessary and incorrect altributcs.
(10 Nilarks)

Module-4
7 a. Describe the primary responsibility ffi t-oy.r anci data access layer. (10 Marks)

b. Explain the steps to be followed in developing first cut sequence diagram. (10 Marks)

OR
E a. Describe the process of designing with communication diagram. Draw a conrmutrication

diagram for lookup item availability. (10 llarks)
b. Explain three layer design lor RMO. Give the most common issues lound in thc thrcc laycr

design. (lo Nlartrs)
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9a.
b.
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Module-5_
Explain how to use design pattern. (10 N{arks)

Explain the following :

i) How to select a design pattern
ii) Creational and stnrcturaipattern. (10 Marks)

OR
Describe the applicability structures, benefits and liabilities o1'abstract fuctory system.

\\/rite n.te on : 
(lo Nlarks)

i) Prototype and Singleton
ri) Design class notation and symbols. (10 Nlarks)
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N4ax. Marks: 100

(()ll \larks)
(08 \larl<s)
(0J \larlis)

Fifth Semester B.E. Degree Examination, June/July 2024
Gomputer Networks
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Tirne: 3 hrs.

a.

b.'
c.

b. Explain TCPiIP protocol sr-r itc ol'conlputcr nct$'ork rvith a ncat cliagrant. .,\1so rcprcscnt the

protocols usecl in cach la),er olthe nrodcl. (()li \lnrlis)
c. What is patit loss'l lrxplain clill'crcnt typcs of licquencl' battcls ilr raclio trirtrstnissiorr tt ith

lucccssary diagratl" (0tl \larlis)

Module-2
a. Write the steps for conrputing C'T{C. Find the codeword lbr tlre ntessage fi'amc 110101111I

anci gcnerator polynolnial G(x) : xr "1- x * I Lrsing CI{C. (0U }llrks)
tr. With a neat diagram. clcnrorlstriltc thc rvorking olGO-BACI(-N protocol. (0ll \Iarlis)
c. Describc pure ALOIIA and slottccl AL-OIlA. (0'l \larks)

SCTVICCS. (0.1 l\larlis)

OR
Explain error dctection and corrcctron using hantming cotlc',r,ith 7 databits artd:i chccl< bits,

(0tl \larks)
(0tl \larlis)
(01 \larks)

Nlodulc-3
a. I..xplain the routing process rvithin datagratr netu,orli ancl riltual circuit nct\\'()ri( u'rth a ncnt

Explain the working of stop ancl wait protocol lbr a ttoisclcss chauncl.
With a ncat diagram, crplain thc rvorking ol'CSMA/C-D protocol.

cliagram.
b. [rxpiain distance vector rotttins algorithrrl r,i,ith an cxatltple.

c. Bring or-rt the Lcaky Btrckct rlrccharrislrl lbr tralllc policirlg.

GBG$ $..GHT.ME.

!\tote: Ansxter finy FIVE full questions, choositttr4 OhE./itll qucstiorr.fi'om eac'h ntodulc.

lVlodulc- I
a. With a neat sketch, cxplain two tlpes of u'ide area net\vork in rtse. (0J }lrrl<s)

Lt. I-xplain the [unctionalitics oIOSI re f-clcncc nrodcl layers ''vith ncat diagriitl. (()tt Nllrlis)
c. [:rplrrirr tltc ftrll,'ivitts:

i) Dircct scrlllcncc spread spcctnul and fieclucncy hopping sprcail spectrultl.
ii) I- ibcr clptrcs ancl copper r,',irc. (0tl }Iarl<s)

oR
2 a. List out 6 dilforcnt typcs o1'scrviccs prolidccl unclcr coilncction-orietrted ancl col.tttccliott lcss

lol'2
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oR.
Ll. Irxplain clifllrent typcs of packct scheclLrirng algorithnr u,ith ueat diirgrams. (0lt N{arks)

b. \\rritc thc Drjkstra's algorithm ancl apply rt to the tirllowing graph (Rettr Fig.Q.6(b)) rvith
soLrrce node'u'to find shortest path tcl ail other nodcs.

(0tt N{arks)

c. I)cscribe tu,o rna jor drttlrences bctwee n thc IiCN and RHD nrcthod o1' conge stion
ar o iclancc. (0-l Nlarks)

7 tt.

b

C.

ll a.

b.

9a.

l0 a.

b.

u^.

Nlodule-4
I-ist anci cxplain thc prinritivcs lbr a sirnple tlilnsport sctr iet'.

Explain conncction establishnrcnt betwccn servcr and thc client r"rsing TCP.

With gcncral forrnat, erplain thc various treids of UDP anci cxplain hou,

c a lcLr latccl.

OR
With a neat diagram, erplain each ljelil of TCP header.

Write a note on Max-Min thirncss.
lrxplain the stcps in r-naking a rerrole proccclrrrc call rvith a neat diagrarn.

(06 \larks)
(0tl \larks)

checl<sum is
(06 \Iarks)

(0tl )larks)
(06 \l.rrks)
({)6 \l arks)

b.

c.

Nllodule-5
What arc the 2 dillbrent arcl')itccturcs usccl in rnoclern netlvork application'/ E,xplain eaclr

alchilcclurc: u,ith ncat diagrarn. (08 Nlarks)

Erplain thc [ll-l-P rcqucst mcssage lbrmat in dctail. (08 Nlarks)

Explain tlte r-rse of cookie in rveb application. (0-l Nlarks)

olr
Illustriite the socket comlnunical ion betlvce n two processes thut colrnltulicirtc over the

intcrnet u,ith a sLi itable cliagrarn. (04 Nlnrks)

\\tith a ncat clirqrarn, explain hor.r S\4'l'P can bc Lrsed tor transnritting nrails fl'om sender to

rcccivcf. (08 Nlarks)

[:xplain thc i,arious selviccs provrclecl bir i)NS antl ;lroblems associatcd ri'rth ccutralizcci
clcsign. (0ti llarks)

:k*1(ir*
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Fig Q 6(b)
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L.xplain Carclinality ratios tbr binar.,' relationship ancl

( nrinimuur,1 entrties)

\Iodule:2
h,xplain relational modci constraints.
Explain differert ty-tcs of upclitte opcrations attd shorv an

ref'erential and entity integrity in each of updiitc opcratton.
Dcflne the fbllorving ri rth exatrple :

( i) Priurary l<e1,

(ii) Foreigrr key
(iii) Supcr ke1''

( i.,) C-andidatc key,

21CSs3

(1)8 Nlarlis)
(()8 llarlis)
(0,1 ] l arlis)

(10 IIarks)
u'ritc a Lrl{ cliagranr [br rnovic databasc

(10 ]larl<s)

(0(r llarks)
cxanrplc of a r iolatiott oJ' thc

(0li Nlarlis)

(06 i\larlis)

( I 0 llrrks)

(10 \larks)
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1a.
b.

C.

Nlodule-l
Deflne DBMS. Ilxplain rxain characteristics o['database approach.
Ilxp lain advantages o [' Database Managerncnt systcl.] ).

De ilne data rrodcl. Explain thc dil'f'crent types o{'user {i'icndly irtlcrlhccs.

OR
2 a. Define Entity zrnd attributcs. Explain all the tylres olattribr-rtes along rvitlt nolations.

b.

3a.
b.

C.

1a.

b.

5a.
b

GBG$ $GHEME

Fifth Semester B.E. Degree Bxamination, June/July 2024
Database Management Systems

Time: 3 hrs. Max. Marks: 100

Note: Answer any FIVE jull questions, choosing OIYE.full question from eatlt module.

oR
Bricf'ly explain thc EIL lo rclatronal mapping algorithnr u,ith suitablc exatnplc tirr.cach stcp.

(l0 \larlis)
Irxplain fbllou'ing relational algebra operators r'r'ith cxarnple :

(i) Select
(ii) Project
(iii) Intcrscction
(ri,; Cartcsrarr product

Nl odu Ic-3
Explain inscrt. dclete, upclatc. altcr and tlrop statcnrcnt in SQl..
Consider the following schema for ortler databasc :

SALESMAN (Salesntan lcl, Name, City. C'omnrision)
CtJSI-OMIIR (Cr,rstorler id, Cr"rst_.name. Ciity, Clrade. Saicsrrtan id)
ORDEI{S (Ord_No, I'urchase an-rt. Ord_Dittc, Cltrsttttt.tcr,icl, Salcsman id)
Write SQl- qucrics to,

(i) F'ind the narrrc and nuntbcrs olall salcsnran who had more thau cltte cLlslolncr.

(ii) I-ist all thc salcsnran and iuclicatcs thosc lvho havc ancl clon't havc custottter itt

tlreir citic: (tt:c tltti()t)).
(iil) Crcate that i.icu' flnds thc salesnran u'ho has tlte custotrcr"s u.'ith titc hjglttrr orclct.

( l0 \larli.s)
lol'2



olt
a. \\'ritc a notc on fur ibllor,i'ing :

(i) Asscrtion ancl action triggcr.
(ii) Vio"'s in SQI-.

tr. lrrplain storccl proccdut'cs in SQi-.
c. 13rie 11y erplain JDBC classcs.

N{odulc-'l
a. Hrplain intorrnal gLridclincs to detcmrine the cluality of relation scllenlc

erample.
b. Explarn Artnstrortll ittlcrencc rLtlc.

c. DiscLrss insertion and dclct itltl atlallalics.

21CS53

( I () NIarks)
(05 NIarks)
(05 \Iarks)

clcsign u'iti-r

(0tl \larks)
(06 Nlarhs)

(06 Nlarks)

ol{
a. Dcllnc norntal lbrnt. L:.rplain 2NF.3N-['- and I]CNF rvith sLritablc cratr-lplc, (l0Nlarks)

b. Consicler 2 sets of FDs, F' utttl G, t-.- l.\ + B. B -+ C, AC + D| ancl

(i = lA -+ B, Il -+ C, A -+ I)| Are F ancl G eciuivalent'/

trans latiott rlllt collcttt'rent l)'.

b. Erpiain why recovcry neecled artcl Acitl llropcrtics.

OR
l0 a. Briclly discrrss Two-phasc ioci<ir-rg tcchniques for concitrrency control.

b. Ilxplain AltlES recovery algorithrn with erarrple.
c. Wlite a note ot) Dcecllock prevetrtiot.t protocol.

(05 \{arks)

c. CopsiclersetolFD'sbc F:fe+.,\,f)-:A,AB zi)]. lindtheminimalcovclof E,.

(05 Nlarks)

Nlodule-5
a. WIr,,concurrency r]outrol neccicd. Explain types olltroblettls that rlay occutr n'lict.t 2 sirllplc

( l0 IIrrks)
(10 \lrrks)

(0tt NI arks)
(08 NIarks)
(0:l \'lerks)

2 of 2
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Fifth Semester B.E. Degree
Artificial lntelligence

Time: 3 hrs.

21CS54

Max. Marks. 100
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l,iote: Answer iln! FIVE !illl questions, choositrg Otr'E Jhll question .f rttttt ettc'lr rtrolttlc.

Module-l
1 a. De line the tcnns :

i) Atificial Intelligencc ii) Turing Test iii) Total Turing Test

Summarize the capabilitics requircd by computer to pass the tr-rring tcst anci ,",, ,ir1i,i?.,..;;

b. Outline the following phases rvith respect to liistory of AI:
i) Tlie birlh of Artit-icial Intelligcucc
ii) Al wirltc; ( lo Murks)

OR
2 a. Hrplain Simplc-Pr.obicm-solving-Agent rvith an algorithn,. Also statc lhc asstttrqrtit'rns clottc

in the process of'agettt dcsigrr. ( l0 Nlarks)

b. Illuslrate thc componcnl of iicll-dchned problcnts try tirrmLrlatitlg "Vactlitnr Worlcl" 'l'ov

( l0 Marks)p rob lc tn.

Vlor
3 a. Infcr thc conditions for optimality of A

state S, ldentify the Goal state and solve
: lQ't '

16>-
i-r/1

algorithm.IR .Q3(a)l

4a.
b.
C.

q"L "l.i :.'
Fig.Q3(a) (lo vlarks)

Dcfine Machinc Letrmir-rg. Explain in dctail thc cliflbrcnt typcs o1'nrneltirre lcrltr.rrirtg riith
(t0 \larks)cramPlc' 

.,R
What is dispersion of Data? Explain thc cliilercnt n'Ieasurcs of data dispcrsion. (10 Marks)

Explain PCA. Wrrte the PCA algorithm. (05 N{arks)

Considcr thc follorving data of tf,lI- coursc rcgistration. Therc arc 50 boys and 50 girls in the

class. Apply Chi-squaic tcst and find out whcthcr any ditlbrcncc cxists bctween boys and

grrls lor coursc r"gitrt

:g

on. [Ass;ume : P:0.0412
Gcndcr Re gistered Not Rcgistered Total
Boys 3s x5 50

Girls 25 25 50

l'otal 60 40 100

:.. i,.,,*

i of -?

(05 \lar"lis)

GBG.$ $GHEME



Module-3

5 a. Gcnerate vcrsion ftrr the ven dataset us idate elimination

l)cmonstrate the slcps of Lean:t

Diflbrentiate between lnstancc
;rtiu 1.f{iit . 1

OR
tcchniqucs of Regrcssion rnctltocls. Exptain

dctail.
Clonsider thc foiloline datasct:

S.No. C]CPA Asscssnrcnt Proj cct
Submittccl

Result

l q.2 85 IJ Pass

2 B SO 7 Pass

3 85 8l R Pass

4 6 IiJJ 5 Fail
5 6.5 .:.:: i::.1" 50 {'', .;'1:i'' Fail

6 8.2 12 l1 Pass

7 5.8 38 ,', '1.5 Fail ,,, '

8 o "8;9' 9l irr o pn5g:,',,,r,,'

Assuming K: 3, Classify tltc ncr,v instancc (6.1,40,5) r"rsing

21CSs4

(10 Marks)
(05 NIarks)
(05 Nlarks)

any 4 techniques in
(10 Marks)

algorithm. (10 Marks)

adrrantages and disadvantages. (10 Marks)

,' ..,,,,, :jilr Module-4
' : ::, ':.

i:.*!.

.:=aY

.,& :$..i'

b.
C.

6a.

b.

1.,

b

C,

8a.
b.

List the diffc
dctail.

rent validation

foiloline data

i)cllnc thc tbllor,r,ing tcrms:
i) L:utnrpr ii) lnfbrmatrort giiin iii)GTNI lndcr
ir,) Prc-pi'unrng v) Post-prLlning (05 Marks)

Dcllnc Rcgrcssion Trcc. Writc thc algorithnr for constructing licgression Tre es. (05 Marks)

OR
State Baycs Theorerr. . Definc MAP hypothesis and llaximum likelilrood. (06 Marks)

Considcr a boy rvho has a r.,olleybail toumamcnt on the next ciay, but hc ti:e1s sick today. lt is
unusual that there is only a 40o/, chancc he would fall sick since he is a healthy boy. Now,
find the probability of the boy participating in the toumarnent. The boy is very much
intclcsted in volley ball, so there is 90% probability tliat he would participate and20o/o that
he rvill fall sick given tl-rat he participates in the totlmament. (04 Marks)

IllLrstriite thc structure of Dccision Trcc. wtth rts

Exccllcr,t

- 0l .l

CCPA Interactivcncss Practical
l(novu,lcdgc

Communicatiot-t
skills

Logical
Thinkine

lntcrest .lob
Offbr

>g Ycs Cioocl Fast Yes Yes

>9 Ycs ( ioilcl (iood Fast Yes Yes

>B No (iood Cood ljast No No

>9 Yes (iood Goocl S lori, No Yes



21CS54

Classily the given test r'lata using Naive Bayes algorithr-r-r. Apply Laplace cot'rcclion i1'zcro
probabil ity problenr occurs.
Tcst data : fAsscssrncnt.- A.u,c-rage. ;\ssignnrent:'Yes', Projcct - No and sctninrtt'-'Coocli
(iivcn clirtasct :

S.No. Asscssr-ncnt Assignmcnt Proicct Scminar' RcsLrlt

1 Good Yes Ycs Goocl Pass

2 Avcragc Yes No Poor Fail
J Good ':;::,,',,,'NO Ycs Good Pass

4 Avcrage No No Poor Fail
5 Avcrage No Yes Good Pass

6 od ,1,,,1'"" No No Poor Pass

7 Average Yes Yo$a Good Fail
8 Good Ycs ,,:.,Ygs Poor Pass

(10 Marks)

N'Ioclule-5
9 a. Illustratc Mcculloch ar-id Pills Ncttron Mathc rnatical urotlcl. \\rhich alc the dif'lclcrtt

(06 Marks)
(10 Marks)

b.

10

I J I I-

..,..,.,r:rii:t, . ,'
c. r Hxplain the differenl.Qlpiter Evaluation medrods.

i,l.t:.:, ,r.,****rt

t'*:., .r,'i 1

. :. ..a.:..:-,:

ti-:liifr:.

!f

Obiccts X Coorclinatc Y Coordinatc
1

-:. ) 4
I 4 (r

,3 6 8
,1+ 1t) 4

",.,,5 \2 4

3 of3

(12, 4) as rnitial seed.



Fifth Semester B.E. Degree
Research Methodology and

Tirne: 3 irrs.

USN

3a.
b.

4a.
b.

5a.
b

6a.

,,ft: ' 21RMI56

,o';l
Ex a minp,fi d'S-Ju n e/Jul y 2 02 4

lntellectua! Property Rights
,,: ' .-. 'l Max. Marks: 100

a"

b.

O
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Note: lnsn,cr ony FIVE Jitll questiorts, cltoosirtg ONE full question Ji'on, esclt rnodule.

OR
ldentify the ttpes of Engrneering Research anci brrefly explain thcm.
identrfy the ethical issues related to authorship lnrl br icf out tlrenr.

Identifiz the nreaning of Research and brief out the objectrves and motivation in Engineering
Research. (10 l{arks)
Iderrtily tlrc stcps to find the "solve a worlhwlrile problerri". (t0 ttlrkr)

Module-2
Identily the essence of new and existing knowledge and expiain brie{ly. (10 Marl<s)

ldentily how search operators are used to narow down the search results. (10 Marks)

OR
Identity the impacts of title and keyr,vords on citation. (10 Marlis)
ldentify acknowledgement and attributions in researcli process and brielly explain,110 NIart<s)

Module-3
Define Intellectual Propeily (IP). Expiain thc rna.jor types of IP. (10 Nlartrs)

Identily the proccss of patenting. Briefly explain. (10 Nlarhs)

OR
Explain brielly the Commerciaiization of a patent (10 )Iarks)
What are tlie exclusions (product and processes) that cannot be patented'? Explain. (10 NIarks)

Mot!ule-4
Explain the classes or t),?cs of copynghts. (10 llarks)
What is a Tradcrnark'.) Erlllain thc symtrols rn TM. (t0 rtirrlir)

( l0 .\'I arks)
(10 Ilarlis)

OR
a. What are the advantages "the registration ola trademark provides to the proprictor"?

(10 Marks)
b. Identily process of Traderlark registration anci explain briefly the classillcatron of TM.

: tln n,r--t,-\

l)efine Industrial design. Briefly9 a. l)efine Industrial design. Briefly explain acts and laws to govern Indi.rstrial design.(10 Marl<s)

b. ldentify procedure for registration of Industrialdesign by taking example of Aple Inc Vs
Samsung lllectronics Co. (10 N'iarks)

10 a. Define Geographical Identification (GT)?il nr,.n, explain acts, laws anci rules pertaining to
GI. (10 Marlis)

b. Identify IP Organizations in INDIA. Explairr schemes and programs lbr IntcllcctLrai Propertr,'

Rights. ,, ,i'

i. --r:.;,..,,

,,:, ::" ,!r
'i::.,

.,rL{liii{t

J.JJ&.L

(10 Marks)

).
b

7a.
b"

GtsG$$GffiEMffi
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21CTY57

Qucstion Paper Ycrsion : A

Fifth Semester 8"tr./B" [cch. f)egree Examination, Junc/July 2424

ffi Ervfr rsmrnental $tue$E es

Tinrc: I hr'. | [N4ax. N'larl<s: 50

INSTnUCTIOF{S T() 1'HIi CAI'iDIDATES

l. Ansu,cr all thc {'iftv qucstions. cach qr,restion carrics otic ntarl<.

2. Use only lllacl< trall point pcn lbr rvriting i ciarkcning t]tc circlcs.

3. lior each qucstion. altcr sclccting t'our:rnslr,m"r rl*rken lhe a;tpropriate circlc

cot'rcsporlding to thc sarnc qucstion ttutubct' ott l.ltc ONIIl sltcct.

4. Darl<ening tr,vo circlcs {rrr thc -santc clucstion tnakcs tltc;rnsn,ct'irtraiid.

5. Damaging/ovenvriting, using rvhitcncrs on thc ON'lR shccts are strictly

prohibitcd.

l. In an ecosystetl. thc I'loi,r, oi'cnert:\,'is
a) Bioclircctional b) C_vclic c) ljnrdrrccliunal d) N4Lrltidircctronal

2. \Vhich o1'the lbllowing is a biotic cotrponent of iut ccosystctn'.)
a) Fungi b) Solar light c) 'l-enrperaturc d) ilLrrniclity

3. Which pyramrd is ahvays Lrpright'?

a) Encrgy b) Ilionrass c) Numbe rs d) Iioocl chain

4. 'l-hc largest reservoir ol'nitrogcn in oirr planet is.

a)Oceans b) .\tnrosplrcrc c ) Biosphcrc d) Ijossrl [Lrc1s

5. Abiotrc: components inclircic.

a) Soil b)'l'ctnpcrature c) Watcr d) Allol'thesc

6. I)rinrat 1' consu niL'r' i:.
a)Herbivores b) ('arnivor.cs c) N1acro consllutcrscl) Orrrnivorcs

7. 'l'he wclrd "Environmcnt" is derilcd llorn
a)Greel<

8. Mineral is.

a) Organic rxatter
c) Synthesis compound

b) l]rench c) Spanish cl) Lnglislt

b) Naluralll' occLtriing inorgatric substattce

d) None o1''tircsc

VerA-l



ZICTY57

9" 'fhc terur ccosystcnr u'as ilrst proposed by.
a)Jacob Van Ve rkLrl b) A.(.i.Transley c) Coslraza d) Manie Cibbs

10. Golcl iiccr-tr in,

a)Scclirrrcntarv Deposits b) Placcs cleposits

c) Ilydrothcrrnal eleposits Ll) Nonc olthcse

11. Irluorosis is causecl tluc ttr.
a) No llLror idc intake tr) I-ou' llLroriclcr intake

c) l-.xcessive lluolicle intakc cl) Norre oi'these

12, [)ccrcase oloxr,'gcn icrei in il'ater tttainly caLlscs,

a)lrlLrorosis b) Death of'aqLiatic lifb
c) \\/atcr pollution d) Iloth (b) anri (c)

13. \'1 irre ral r.csoLlrcc ar..
a) l{cncw'able b.) Non-llcneu,able c) I:qually distribLrtecl d) None of these

14. I)clbrcstation can.

a) lnercase the rainlali b1 Inclcasc Soil l'ertilitl,
c) Introcirice silt itr ln cts il) Nrrnc ol'tliese

15. I)llints Lrsc *__eas flrr phrttosynthesis.

a)Orygcn [r) ]\'letharrc c) Nitroge n cl) Carbon dioxide

16. Irorcsls lllc\/ent soil crosiou by bintiing soil particles rn thcir.
r) Slums b) I{oots c) [-eat'cs cl) t]uds

17. N itlogcn liring bactclia e xists in ol'plants'?
a)l cal' b) ltoots c) Stearr d) F-lorver

Itl. \\ hrclr ol'the ibllorving is tlte source olgrouncl lt"atcr'/

a)Occlins b) Sprrngs c) Ittvers d) All of'these

t 9. I'ire e 1'1'lLrcnts li-onr urbair arcas contaitt.
a) Oil lnci grcases l;1 l)ctcrgcrrts
c) Niitircnts d) All ol'thcsc

2{J, Iiiarinrrrin cl issolr cri r}x-\,qcn is reqLr ircd br,,

r) lrislr [r) ]lactcrra c) \/cgcillrlcs d) All ol'these

21. \\'lrich o1'tire lollor,r'rng is nt.lt a cornpotrcnI o1'soii'J

a) \4incral rnatter b) Organrc matter c) Oz-one d) Soil air

2]. l ).'tlrirl i,rt] ol- \oise ts

ru) L-oLrcl sound b) lJnu,anteci sound c) L'orrstanl souncl d) Sor-rncl of high liequency

23. 'l'hc Noisr: is mc:asurr:cl in.
a) I)ccrbcls b) .loLrlcs c) PPit4 d) NTU
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24, Noise pollution can be rninimizecl by.
a) Urbanization b) Marntainine silence
c) Redr-rcing noisc at solrrcc cl) Nonc of'lhcsc

25, Bursting cracl<crs rnainly caLlses.

a)Noise pollution h) Plastic nollLrtion c) N'larine pollLrtion d) Nonc ol'thcsc

26, Water pollution can be nrinirrizcd h'r"

a)Rclcasing scr\\lagc lo occari b) Ilcleasirig r:lllucnt lo u aslc land
c)-Ircatrng wasle watcr d) None oI-lhesrr

27, Chlorine can bc uscd to.
a)'l'o kill pathoguirc lnicr.oolc.rrrisrns b)'l'o incrcasc tlrc pll
c)'l'o clear the turbidity d) AII ol'thcsc

28. Carbon content is highcr in,
a)Soil b) Atnrosplicre c) Waler d) Livrng nratlcr

29. 'I-he depletion ol'trees is causins accLrnrulation ol 
_

a)NO: b) S(): c) CO. cl) O:

30. -l.he 
adverse ellbct oi'rnodcnr iigriculltrre is,

a)Water pollution b) Soil dcgradation c) Water louglnt d) AII o1'thcsr:

31. E.l.A rs reiatecl to.
a)ResoLrrce consr'r'\/ation lt) I:lIicicnt IrclLtiptrcnt proccss
c) Waste minimizatrort d) All oltlicsc

32. "Earl.ir L)av" is helcl ei'crr, \'.ar ()n.

a).[r:nc -5'f ir) Novr:nrlrcr ]-l''i c) April 22'"1 tl) .lanuary 26tl'

33. Which of'tlie lolloivrng is tlrr: nllst cnvironmcntal li icnclll, acricLrlture practir:c'.)

a)LJsing chetrical l'ertilrzcrs b) tising utscrcliciclcs

c) Organic farnrins. cl) None ol'tircsc

34. '['he dicsel vehicles poilLrte thc environmcntal largc:11'throrrglt.
a)NO- tr) C0 c) lrnhurnt hyi'irocarbons d) All of these

35. Which among the fbllon'ing is cleair lirci'?

a)f'}etrol [r) t)icscl c) lilcctriciti, d) CNG

36. Which among the fbilorving is not a greenhousc gas"'i

a)N:O tr) CFC's c) lrllji\,s d) Nonc ol'thcse

37, I'he lrrotocol that reduces gleenhoLrse gas emission's are,

a)Kvoto protocol b) Cartagcna protocol c) Montreai protocol d) Vicnna protocol

38. Global Warrning could af'l'cct.

a) Clinrate ir) Increase itt Sca lcvel

c) N'lelting ofglacie'rs d)All o{'thc-srr
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39. Which ol'the fbllou,inu rs a soLrrce of'SO: in atrlosphcrc'?
ir)\/olcanoos b) Thcnnal po\\rcr plants
c) llzSOa manufitcturing d) All olthesc

40. Alnrospheric oxidation o1'SO. to SOr is irrflr-rcncccl by.
a) SLrnlight b) I lLrmidity
c) l)rcscnce ol- hyclrocar bons d) All ol't]tcsc

41. Ae rtl lLain etlccts
a)\liircrials b) l)lanrs c) Soil d) All ol-these

12, ( )/ritir'l;.,t.t ir ptr'.t'til itl

a) 'l'i'oposphcrc b) Stratosphcre r) \'lcsospherc d) I'hcnnosphere

43. \\ilrrch ol tlic lirllou,ing is lhe unit lbr rncasuring thc: thicl<ness o1'ozone layer'?

a)Decibcls b) Dobson unit e ) Centinreter d) None of these

41. ['l:C]'s havc bccn useci lis.

a) Solvcnts Lr) Itcliiecrants
c1 13krrving agents lirr polvrrcr lbanrs d)All ol'tlicsc

45. Ozcirie ho lc u,as lirst cl iscovcrccl trvcr,
a) ;\r'etic b) Anlarctrca c1 

'l'ropical rcgion ci) Aliica

4{t, I irc: trrlnr acici rain was coincd rn thc vear,
a) le52 b) 1852 c) 1652 d) 1752

47. \\lhiclr o1'thc Iollori'rng is not a soLn.cc ol'('O: iu thc atrnosyrlicre'/
lu)ilLrr-riirrg o1'lossil tircls lr) l)ltotosynlhesis
c) \'rili'arrii F.rLrptiorrs tl)r\nirnal and plant rcspiration and decay

.{8. lnereu:;c irr Asthnra altaclis Iras bcen lrnkccl to irrgh lcvcls o1,

lu)Orvgcn [r) Ailbornc clirst partrcies
c) Nitrogcn dt All oi'these

49. I:ooi1 chain is divrclecl iuto ___-, basic categorics.
a) lioul b) 'l'hlcc c) liivc d) Seven

50. Abtiirt ;'1, ol'thc coLlntr'\"s coal tleposits are {ilLrnLl in.

a)Karnatalia [r1 I'arril NatiLr c1 l(ashnrir d) Bihar and Orissa.

)i. * :k :! i.
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